Hardware

#2-56 UNC—2A
(#4—40 UNC—2A%)

HOOHEX NUT

*rxk L OCKWASHER

MM - MN - MQ - MP - MMHT - MQHT
Jacking Hardware

475
(.485%)
ﬁ ~— 190 MAX
(.185 MAX*)
L
B 125 HEX
(.187 HEX¥)

— f

#2-56 UNC—2B
x .155 MIN THREAD
(#4—40 UNC—2B
I~ PANEL
(093 MAX THK) x 170 MIN THREAD*)
#+(,070 MAX THK)
#x( 040 MAX THK)

JACKPOST ASSEMBLY

#2—56 JACKPOST 00—-000—000—-000—-2200
#4—40 JACKPOST 00—-000—-000-000—-6200

EOR RECEPTACLES WITH GROUNDING FINGERS
#2—56 JACKPOST 00—-000—-000—-000—-2200—-0G7
#4—40 JACKPOST 00—-000—-000-000—-6200—-0G7

— 125 MAX
(160 MAX*)

I
|f T 145 DIA
H 1 ) (220 DIA®)

— f

#2-56 UNC—2A x
.090 MIN THREAD
(#4—40 UNC—2A x SEE DETAIL A
110 MIN THREAD*)

SHORT CAPTIVE
JACKSCREW ASSEMBLY

JACKSCREW, ALLEN HEAD
FACTORY INSTALLED ONLY

4
T O

HEX
SLOT HEAD ALLEN HEAD

DETAIL A

325
(.382%)
(.340%*)

—| =080 (g7

(.098%)

T

125 DIA

(187 DIA®)
#2-56 UNC—2A x f

1090 MIN THREAD

(#4—40 UNC-2A x SEE DETAIL A
110 MIN THREAD®)

r%

RETAINING RING

SHORT TURNING
JACKSCREW ASSEMBLY

#2—56 JACKSCREW, ALLEN HEAD 00-000-000—-000-4100
#2—56 JACKSCREW, SLOT HEAD  00—000-000—000-4300
#4—40 JACKSCREW, ALLEN HEAD 00-000-000-000-8100
#4—40 JACKSCREW, SLOT HEAD  00—000-000—000-8300

FOR RECEPTACLES WITH GROUNDING FINGERS

#2—56 JACKSCREW, ALLEN HEAD 00-000-000-000-4100—-0G7
#2—56 JACKSCREW, SLOT HEAD  00—000-000—-000-4300-0G7
#4—40 JACKSCREW, ALLEN HEAD 00-000-000—000-8100—0G7
#4—40 JACKSCREW, SLOT HEAD 00—000-000—-000-8300—-0G7

.845
(.880%)
(.860%+)
(.B95**x)

.600

—
156 DIA MAX
$ WITH KNURL

1 (.200 DIA MAX*)
T - =
#2—-56 UNC—2A x — f
.090 MIN THREAD 125 DIA
(#4—40 UNC—2A x (187 DIA*) SEE DETAIL A

110 MIN THREAD*)

LONG TURNING
JACKSCREW ASSEMBLY

#2—56 JACKSCREW, ALLEN HEAD 00-000-000-000-4200
#2—56 JACKSCREW, SLOT HEAD  00—000-000—-000-4400
#4—40 JACKSCREW, ALLEN HEAD 00-000-000-000-8200
#4—40 JACKSCREW, SLOT HEAD  00—000-000—-000-8400

FOR RECEPTACLES WITH GROUNDING FINGERS

#2—56 JACKSCREW, ALLEN HEAD 00-000-000—-000-4200-0G7
#2—-56 JACKSCREW, SLOT HEAD  00-—000-000—-000—-4400-0G7
#4—40 JACKSCREW, ALLEN HEAD 00-000-000—-000-8200-0G7
#4—40 JACKSCREW, SLOT HEAD 00-—000-000—-000—-8400-0G7

RETAINING RING

* = Dimensions for 100 position connectors
** = Applies to #2-56 hardware for receptacles with grounding fingers
** = Applies to #4-40 hardware for receptacles with grounding fingers
**+x = Hardware for Receptacles with Grounding Fingers will come
with a flat washers, lockwashers, and spanner nuts

Call (972) 931-3200 Fax (972) 931-9305 www.AirBorn.com

"M” Series Connectors

MA-5

REV G
CTMAQ05


http://www.AirBorn.com/

